H £ 0l & AFHSH & Ml A

2% (£t &8
SA - BH - SRI(B) - MRAR - BAS Of v e HIDEY
2 7,551,967 3,925,780 3,626,187

= 7,19
= 900,000
=S 1,705,355
Al 4,939,417
otd 2te| 1,800,957 934,527 866,430
= 100,000
= 613,266
Al 1,087,691
otE | 509,450 171,000 338,450
s 100,000
L= 69,250
Al 340,200
e & |2 15,200 11,000 4,200
201 Er2 S| 1,200 1,000 200
01 At2t2l8l 1,200 1,000 200
OAotd 2?22 dA=g
100,000 62 +23] 1,200
A& 20 14,000 10,000 4,000
01 Al&HI 14,000 10,000 4,000
O2BEUN =2 L 2B} 242
4,000,000 4,000
Ootd ATAIEE S8 EA
10,000,000& 10,000
=Itotd 2+ 2 FAl2 88,000 100,000 212,000
401 A2 HIZL R OHYI 88,000 100,000 212,000
01 Al 8| 88,000 100,000 212,000
ONg ol EA (4aHEH])
44,000,000& 44,000
Otf=2A(S2) FIItdZ B (a5tel)
44,000,000 44,000
TUEY|EEE, FUASSH, NSZ2d, =8 337,000 60,000 277,000
A (AF D4TI XA
= 100,000
Al 237,000
401 AlEHIZ R0 337,000 60,000 277,000
= 100,000
Al 237,000
01 Al&H| 336,000 60,000 276,000
Oald 52t ZHAY
336,000,000& 336,000
= 100,000
Al 236,000
03 AIZ2THHI 1,000 0 1,000




SN EERI
I StE el
oel: ol EHl EEREED
SA - ZB . O9(3) - HRAY - BaS Ol & e HimE=T
| Odd I3 xHA 1,000,0002! 1,000
LRAIE FEHISY FUXNIAMS (ARU~oIS2 W MY 69,250 0 69,250
C2 OIEdY 4x 2 01NSSX ZE)
= 69,250
401 AIEHIZ 2018 69,250 0 69,250
& 69,250
01 Al&Hl 69,250 0 69,250
OJI=d(L=150m) IR L Ol NF X (A=
,900m") L& 69,250,000 69,250
& 69,250
20t EH| 681,475 561,143 120,332
LGt & RAl2t 681,475 561,143 120,332
201 et AY| 1,475 1,143 332
02 3244l 1,475 1,143 332
O EZ(3IH, L0t , BR4+0H) DXAM S|
oB 9oz 2, 5302145005 1,265
OFB2(5H8, £5t8, BR48) DAN S|
S UERS 2,1002*100= 210
401 AIEHIZL 2018 680,000 560,000 120,000
01 Al&HI 620,000 500,000 120,000
OAotd B 2 X (310H4)
200,000,000& 200,000
Os%d 38 TAXI(L=r7m)
120,000,000& 120,000
O+ sX&2| 300,000,000& 300,000
03 AIE2CHHI 60,000 60,000 0
OAStEELEH s gX=
60,000,000& 60,000
OHE MY HUlAMY 610,032 202,384 407,648
= 544,016
Al 66,016
NLotd A2 &4 390,000 0 390,000
T 390,000
401 A& HIZ20HY| 390,000 0 390,000
= 390,000
01 Al&HI 390,000 0 390,000
OdIld, S8 =4 390,000,000& 390,000
= 390,000
XNgotd |Al2tel 88,000 0 88,000
= 88,000
401 AIEHIZL 2018 88,000 0 88,000
= 88,000
01 AlEHI 88,000 0 88,000




SN QBT
I StE el
Sl SR FHIAKY (crel 1)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
OMTHE, SS&d +2H
88,000,000& 88,000
T 88,000
ot - A= X~&0l 29 132,032 194,712 N62,680
& 66,016
Al 66,016
101 @l244| 103,072 150,504 NAT 432
= 51,536
Al 51,536
M IIRIMZ2Z2XSEs 103,072 150,504 A7 ,432
Odta - A= X0l 23 ol248((4%) 108,072
22 95, 1203 *4H 163 62,019
= 31,010
Al 31,009
S aa=E=A= =y 95, 1203 x4 H 12 4,566
= 2,283
Al 2,283
=5 95,120 x4H+365 13,317
= 6,658
Al 6,659
EAPNES = Eat = 95, 12021 +4H+8 3,044
= 1,522
Al 1,522
-HEZIH| 500,000 x4X 2,000
= 1,000
Al 1,000
—“UE8s S JIEr2Z|
18,125,470 18,126
= 9,063
Al 9,063
201 Let2AY| 28,960 44,208 A15,248
T 14,480
Al 14,480
01 Ar2teltl 24,160 37,008 A 12,848
OdtaA - H=2XZ0! Xtz sELI(2th)
21,600,000 21,600
= 10,800
Al 10,800
Octd - HZXZ0| 222 ME S JIE=2
ZH| 2,560,000& 2,560
& 1,280
Al 1,280
02 32| 4,800 7,200 A2,400




SN EERI
4 ot 2te|
oel: ol ME HHIAY (St M2
SA - BH - SRI(B) - MRAR - BaS 0f v e HIDEY
Osta - A=NZ0l 112k SE0l(20)
4,800,000 4,800
T 2,400
Al 2,400
Mol & Mt=2s=43t 5,225,249 2,507,256 2,717,993
= 7,195
s 800,000
= 1,092,089
Al 3,325,965
2HEE U A= 4,787,794 2,086,696 2,701,008
= 2,484
fas 800,000
= 1,054,210
Al 2,931,100
SlEgEny =Y 1,335,800 1,015,800 320,000
201 Er2E| 1,093,800 951,800 142,000
01 AtR22lBl 569,400 415,400 154,000
OHESHZFE HIAZ2R =&t
8,000 +30& x 102! 2,400
O8I MIIotA A Alg2e| il 8
= 479,000,000& 479,000
O&J|etH Atk =22 (FI])
22,000,00024 22,000
OUSEIY 2015 89
22,000,000& 22,000
OdtdAIE JIHEHI(+=28) |22 S
2,750,000 +82 22,000
ONSHIE USHOAIAE(160H) S22
29 2,750,002 +82 22,000
02 s3=gHl 524,400 536,400 212,000
O=EXgsAdI(1) 5,000,000& 5,000
Ol =J1= X2l 200,000 *5CH 1,000
OASHZI & SHEMUAIE HI|I2=
27,500,000& «12& 330,000
Odls8Zd & olEMTAE Ste=s
3,200,000& 123 38,400
OLHAIE 2 (PoOL) 2tel 150,000,000 150,000
206 =0l 20,000 20,000
01 Mz Hl 20,000 20,000
Oodlsgnd 72l 225 7
20,000,000 20,000
401 AlEHIZ 20| 222,000 44,000 178,000
01 Al&ZHI 222,000 44,000 178,000
OUsBLE HE¥FH(FI]) 84
22,000,000 13l 22,000




SN QST
A THol & M=1s=223t
CHel: et THLHOI R H TS (SHo: &2
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
OSEHITA(14HA), tH=2(20HA) FLot
HEE 29 200,000,000& 200,000
DX b=2 X2l 30,000 140,000 110,000
401 AIEHIZL20Hb] 30,000 140,000 110,000
01 A&l 30,000 140,000 A110,000
OLXN =2 A2/ 30,000,000& 30,000
MHUBEAE XS+ 140,000 130,000 10,000
201 Let2AL| 140,000 130,000 10,000
01 At2t2ltl 140,000 0 140,000
OB ZANLE S& RAE=
140,000,000& 140,000
MAWBEAL == 22,900 27,200 A4,300
405 XHoHE SHI 22,900 7,200 15,700
01 I A =EFSHI 22,900 7,200 15,700
OXIZItEE ASI| A W (2oHA)
14,000,000& 14,000
OML 2 AIAE LY E2AEXI(UPS) WX (1
) 8,900,000& 8,900
MoZEAE &E(2HI) 140,000 80,000 60,000
= 70,000
Al 70,000
401 Al&HIZ20Hd| 140,000 80,000 60,000
= 70,000
Al 70,000
01 Al&HI 140,000 80,000 60,000
OMHUHEEAE &S [HH2ZAISCCTV (4
IHA) L WHI(6IHA)] 140,000, 000& 140,000
= 70,000
Al 70,000
Mot A EtAl 2 149,9% 150,872 A876
201 LBr2AH| 129,4% 130,372 AB76
01 Ar2t2ltl 76,7% 77,672 A876
O 22X =4l|
10,000,000 10,000
ONotMatstsl 25 IF7 S 7Y
2,000,000 2,000
OMLOtMatEtA 22T SR
60,0002 x2Z 490 58,800
OfftorMaratal XA EA17 S MEH|
80,0003 *53= 4,240
OMtotMatstal HXA 2F 2|
1,000,000& 1,000
O3J18&I| edxtz
21,0002 «3CH*12& 756
02 S3=24tl 52,700 52,700 0




SN EER
I ol & Mt=7528Y 3t
CHel: et THLHOI R H TS (SHo: &2
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
OMtorsatatal S X2t
10,000,00024 10,000
OMLCIZRAILE HIIR3(3H2)
3,700,000 3,700
OMHAHZEAIE SRS (36HA)
35,000,000 35,000
O3 EXt=R2eld(10H) 4,000,000 4,000
203 =8| 19,000 19,000
03 A=A RS&I] 19,000 19,000
OUMTAI= I =dRSE R AIRFEY
S8 14,000,000 14,000
OQFREZ I AMETYDEAY]
5,000,000 5,000
301 EtE2 N = 1,500 1,500
11 dAMEEIXIE S 1,500 1,500
OMHES S22 2538 Hal
1,500,000 1,500
MHet2tel =& 102,110 152,360 A50,250
201 er2d| 76,110 22,360 53,750
01 AFR2teltl 75,150 21,400 53,750
OTHSHS B BII 0l ~S] MAS
100,000 6 * 182 9,000
OoIE RIS o4
100,000 x0H+53] 4,500
OMHUB AL STREl RIHEI} 9123
SAt =S 200,000 *7 =13 1,400
Oertd 2te| Xt HI= 35,0003 »502 1,750
Otz 28+E
100,000& * 15 62 9,000
Oerdue S2HI(AlRItMES, 46l &2
g 3S) 2,000,000 2,000
Ootlgd2es A 2 M
50,0002 x950& 47,500
02 s3=4Hl 960 960 0
O A AIAH 28 SHe3
80,000& * 122 960
401 AlZHIZ S THYI 26,000 130,000 104,000
01 Al&HI 26,000 130,000 104,000
ONZBAIE= HEHZAL 9
26,000,000 26,000
Jlzetel SEEEEY N (HHUS ANet=EY) 4,968 5,134 A166
= 2,484
Al 2,484
201 Ler2d| 4,968 5,134 A166
= 2,484
Al 2,484




oH
R
OF
uJ

-

KI0

Hlw

AN\ 166

A1,050
500
500

A1,550
1,000

10,000

15,000
15,000
15,000

rSfE]-
Ol ko

5,134

9,800

9,800

9,800

2,550

2,550
20,000

20,000

10,000

72,000
72,000
72,000
30,000

Off &t 2R

4,968

4,968
2,484
2,484
9,800
4,900
4,900
9,800
4,900
4,900
9,800

fir

Al

A

Al

A

9,800
4,900
4,900

Al

A

1,500
500
500

Al

500
1,000
1,000
1,000

20,000
10,000
10,000
20,000
10,000
10,000
20,000

Iy

Al

U

20,000

Al

U1

10,000
10,000
87,000
87,000
87,000
87,000
30,000

Al

15,000
15,000
26,000

A

ol

- S2A(3) - HIRA

SRR

03 A2 SHI

4,968,000&

fl
0H)

o)

0l0

1o
il

o

o
O
11y
[
KJ
ol

01 AtR2t2lHl

]l

80

03 ALZ

500,000&
1,000,000

INE=1:1PN

t=}

20,000,000&

87,000,000&

307 glztols

26,000

Al




2N

A THol & M=1s=223t
CHel: et THLHOI R H TS (CHo: =)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
= 13,000
Al 13,000
14 J|Et2 &3 26,000 26,000 0
Oun=s & =gt 1,000,000& 1,000
= 500
Al 500
O =4l 3,000,000& 3,000
L= 1,500
Al 1,500
Ogdles S5l 1,000,000& 1,000
= 500
Al 500
OXNSHME A2ust NJA
21,000,000 21,000
= 10,500
Al 10,500
307 21Z2t01 A 4,000 4,000 0
= 2,000
Al 2,000
02 QIHEAAIHE X 4,000 4,000 0
OXN<SRELEE AFS KR
4,000,000& 4,000
= 2,000
Al 2,000
NEN=LYME AS25tW=F 900 0 900
= 900
301 LEtE NG 900 0 900
T 900
11 HAAEIXI A3 900 0 900
OM:tol tHessg W=s 900,000& 900
= 900
S0l EEAY 22,820 32,600 A9,780
= 11,410
Al 11,410
307 2IZto1 A 22,820 32,600 N9,780
& 11,410
Al 11,410
06 22 22,820 32,600 N9,780
OS2l 28 At 22,820,000 22,820
& 11,410
Al 11,410
ZGMZAIE X 18,000 36,000 A 18,000
= 9,000




2N

K| XH -
(=

el 0l (&5 2e)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
Al 9,000
401 AIEBIZL 2018 18,000 36,000 A 18,000
& 9,000
Al 9,000
01 Al&HI 18,000 36,000 A 18,000
OZATZAIL EXI(ADE 159)
9,000, 000& *2JHK 18,000
= 9,000
Al 9,000
Ao S 24 2t2| 6,000 6,000
201 Let2A| 6,000 6,000
01 AFRZH2IH| 6,000 6,000
Q410 915 29
500,000& x 19+ 12& 6,000
2= MHolREMEX 7 FH| 1,600,000 0 1,600,000
s 800,000
T 400,000
Al 400,000
401 AIEHIZL 2018 1,600,000 0 1,600,000
= 800,000
= 400,000
Al 400,000
01 AlEHI 1,599,000 0 1,599,000
ORE XMHARMNET T FH|Are!
1,599,000, 000& 1,599,000
s 800,000
= 400,000
Al 399,000
03 Al CHYI 1,000 0 1,000
ORE NATHRAE N X EHUIALS
1,000,000& 1,000
otd ZAXAIE &EX 940,000 0 940,000
= 470,000
Al 470,000
401 AIEHIZ 2018 940,000 0 940,000
= 470,000
Al 470,000
01 AlEHI 940,000 0 940,000
Ootd AAEZUXHAIE AXI(47902)
940,000,000& 940,000
= 470,000
Al 470,000
LABESAE(ASHA) SUHEX 126,000 0 126,000
= 63,000




2N

A THol & M=1s=223t
CHel: et THLHOI R H TS (CHo: =)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
Al 63,000
308 KtXISHAISOIH 126,000 0 126,000
& 63,000
Al 63,000
13 I 2 SOIHEHE & E &AL ] 126,000 0 126,000
OASIE 22 U HX
6,000,000 *2101 & 126,000
= 63,000
Al 63,000
Mt & Mo=7 X 20,000 20,000 0
Mt & THoh=S7 A 20,000 20,000 0
302 OI=L Mo EAZ 20,000 20,000 0
02 QIZICITHOH L SR &S24 S 20,000 20,000 0
ORIZIoITH B A= 20,000,000& 20,000
MBSO DIEER|2E 10,660 50,004 A39,344
ME DI H 10,660 50,004 239,344
201 LEt2AL| 10,660 17,654 6,994
01 AtR2tel] 5,600 12,380 N6,780
ORIYP SHF S II=HI(22) 7Y
50,000 30 1,500
Oolere| AIBFA 2= 2 WK
25,0003 =80 2,000
OoIg2(d] 2| 7,000 *300H 2,100
02 22| 5,060 5,274 A214
OpPlge DEEXMN SISH 23
2,530 *2,000H 5,060
LHalRle dgRussd 40,075 43,348 A3,273
= 4,036
= 5,906
Al 30,133
g WESAHI(OIEXAU S 2] XH) 1,681 1,261 420
= 504
& 353
Al 824
301 L2 NG 1,681 1,261 420
= 504
= 353
Al 824
14 JIEt2 43 1,681 1,261 420
oolgr|=Xall S MEUSXA
1,681,000& 1,681
= 504
= 353
Al 824
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2N

A THol & M=1s=223t
SHPl: Dlskel AlEIH| 22 (cie) 29
SA - B . B(30) - HISAIY - BAS Ol &kt e HImE2
Al 1,102
201 etz AL| 2,250 0 2,250
= 675
= 473
Al 1,102
02 S22l 2,250 0 2,250
oolgre] F2AA WAL
250,000 904 & 2,250
= 675
& 473
Al 1,102
&g A4 IS 40,000 0 40,000
& 12,000
Al 28,000
401 A& B2 2018 40,000 0 40,000
= 12,000
Al 28,000
01 Al&HI 40,000 0 40,000
S0 S tla2sAld EH|
40,000,000& 40,000
= 12,000
Al 28,000
HIACHHIEHAl =& 34,720 32,040 2,680
SNHSO WA =& 30,200 28,200 2,000
201 LBrE4d| 28,000 26,000 2,000
01 ArR2teltl 28,000 26,000 2,000
SXNHS HIAEEA =4
14,000,000& 14,000
O2X¢s M=l 4,000,000 4,000
OsSXNosd e L MAEH Xz
10,000,000 10,000
202 04| 200 200
01 =G4 200 200
O & Z=0 m&A ol
50,0002 *4Z 200
301 LBetEXZ 2,000 2,000
11 HARHIXIES 2,000 2,000
O&NE=A I B4H(40Y)
2,000,000& 2,000
HESA HIAOH us =& 4,520 3,840 680
201 et AH| 2,800 2,400 400
01 At 22l 2,800 2,400 400
O8A=4A HAUH LS WS
70,0002 *40H 2,800




SN QST
I Toh L =PSB
=0 HIZCHBIERA &t EEREED
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
202 04l 1,720 1,440 280
05 SR W0 1,720 1,440 280
OCEE=Y tladiblns ol
43,0002 *40H 1,720
A2 =SR2t 151,050 145,968 5,082
AMNBISR2E 2| 151,050 145,968 5,082
301 22N = 151,050 145,968 5,082
10 AR S22 161,050 145,968 5,082
== 980,000 x10F 122 117,600
OsAltl 7,000 10 260 18,200
OmEH| 3,00021+102 %2602 7,800
o=l 350, 0002447 2,450
OMEIZR2 B2 By 2 PAXI2
5,000,000& 5,000
A#Y2EGH|(HESZ ) 33,106 31,900 1,206
Jl23tl(etdEZ ) 33,106 31,900 1,206
Jl23tl(te S22 33,106 31,900 1,206
201 LEr2 S| 20,000 20,000 0
01 AFR2teltl 20,000 20,000 0
ORAM2EAIR 22l 20,000,000 20,000
202 O 5,000 5,000
01 2LHoAH 5,000 5,000
OJl=gf =0t (229) 5,000,000& 5,000
203 BRI 7,500 6,900 600
01 J|2=2gg =] 3,300 3,300 0
OJ|&2=2gede=a] 3,300,000& 3,300
M A=Y= 4,200 3,600 600
ORANSELRFTHI(2521015tH)
350,000 x 12 4,200
405 AHAHFSH 606 606
01 ML ESHSHI 606 606
O & ME(H), 2AXHIOH), THEIE(X)
- 606,000 606
HRes(etds2n) 492,655 452,097 40,558
WRHARI S (AN EZ D) 492,655 452,097 40,558
Het2eDls 8&s 492,655 452,097 40,558
(VIS TSE 492,655 452,097 40,558
01 JI=dE=S 492,655 452,097 40,558
Ol-t2ed2 dE3 492,655,000 492,655




